3E 2008 INDICES ' . 2gth February

o

Show ail necessary Worldncr and set your work out in & neat and logical manner.

1. Simplify thess expressions.
. (&) 3:15.2 X 533‘3 (d) ( —3gh* )
- (b) 15a°%° + 3ab ‘ © ()3 x 510
© 3a X 3a X 3a ' 7 3ut X 4w
3a + 3a -+ 30 . ' (£) (6:523;3)2 = 324
2. Eapress the following terms i bheir simplest form without néggtivé imdices:
(a) a2 . - (e) 8™ = g—m™
(b) (_3_) B . | (£) 5% x gt
. 1 | . |
‘ a2 : (&) P )
6@ -
b ‘ B (h) 52:1:1-1 = 59;—1
d) (5m~t)?

3. Evalrate:

() o8 | (d) 8~3
(b)l 27% | ‘ © (g_g)“g

(a) Find the value of 2*y™! given x = 3 and Y = %

{b) Evalnate a“z — b when o = -2, 5 =_land e— %

8. Usé the index laws to simplify L,he following expressions, giving your answer in terms
e ——— ﬂLhnmﬁvp mrm*@'i

A 151’:‘36* C, TaT8BE 21aRpR
3bc—4 (C) (~2a3b)2 N do—1h
273\ 2 " .
o (28) S
\- b3 \/ bz‘m -+
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